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Choose the most suitable answer and write its number {1, 2, 3 or 4} in the brackets
provided.

1 Study the following electric circuits. if all the bulbs and batteries are in working
condition and are identical, in which circuit will the bulb(s) be the brightest?
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2  The diagram shows a fight bulb.

Which parts of the bulb are good conductors of electricity?

(1) AandBonly {2) CandDonly
(3) B,CandDonly 4 A, B,CandD

3 Which of the following circuit(s) is / are closed?
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glass plastic sheet
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copper coln iron nail
(1) Aonly (2) CendDonly
{3) A CandDonly (4) A B,CandD



4  Kenny wants to find out how the num

ber of batteries affects the brightness of a
bulb.
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Set-up A Set-up B
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N N
Setup C Setup D

Which two of the set-ups should he use?

(1) AandC {2) AandB
(3} BandC {4) CandD
( )
§  Study the circuit below.
A
B C
E
D
Which of the butbs will still light up when bulb D fuses?
{1) AeandConly (2) A, BandC only
{3) A,B,CandE only {4) None ofthem
{ )




6 The circuit card has a metal thumbtack at each of the points A, B, C, D and E.
Some of the thumbtacks are connected by wires behind the card.
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Circuit card

To find out how these thumbtacks are connected, the two ends of the circuit tester
are connected to two different thumbtacks each time.

The results are shown in the table below.

Toster connected fo thumbtacks at Does the bulb in the circuit tester
light up?
AandD No
Band D Yes
CandE Yes

From the results shown in the table above, which one of the following is a possible
arrangement of the wires behind the circult card?
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7 Inwhich of the circuits will both the bulbs light up?
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8 Which of the following actions helps to conserve eleciricity?

(1)
2)
@3)
)

Switching on the light when leaving the room.

Setting the air conditioner to 25°C instead of 15°C.
Plugging many elsctrical appliances into @ main socket.
Using an electric dryer to dry the clothes on a sunny day.

9 The diagram shows an electric circuit.
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To light up bulb X only, which of the switches should be closed?

(1)
(3)

S1 and S3 only

§2, 83 and 54 only

(2)
@

52 and S4 only
S1, 82, S3 and 54

(




10 Christian wants to investigate how the arrangement of the bulbs will affect the
brightness of the bulb.

oo lossl

Circuit A Cireuit B
i 9
Clircuit G Circuit ©

Which two circults should he use for his experiment?

(1) Aand B
(2) Aand C
(3) Band C
4yCendD

B (10
Read each question carefully and write your answer in the space provided.

44 Inthe diagram, draw wires to show how you would connect the two balteries 2]
and the bulb so that the bulb will give out the brightest light.
Use a pencil and ruler for your drawing.




12 Draw a circuit diagram, using only circuit symbols for the following electrical  [3]
circuit.
(Note: the switch is opened)

13 Albert set up two electrical circuils using the following items:
batteries, wires, light bulbs, materials X, Y and Z.

e

X A7
(00— ¢
Y D
Y 2 B
X
Using the information above, complete the table to show all the other
missing obsetvations. 2]
Bulb Light up? (Yes or No)

A
B No
C
D . Yes




14 Jay built a game using an electrical circuit as shown in the diagram. He made
an iron loop which is used to go round a coil of twisted iron wire.

twisted iron wire

(a)  What propesty of iron allows this game to work? i

(b}  Describe how the game works. M

{c) if another battery is added to the circuit, what will be observed when the loop
touches the wire? ()]
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Q13 Bulb A: Yes
Bulb C: No

Q14a |lIron is a conductor of electricity.

Q14b | When the iron loop touches the twisted iron wire, a closed circuit is formed
and electric current can flow through the circuit, causing the bulb to light
up.

Q14c | The bulb will light up brighter.
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Section A: (10 x 2 marks)
Choose the most sultable answer and write its number (1, 2, 3 or 4) in the brackets provided.

1 In the diagram below, letters A, B, C and D represents blood vessels canrying blood to
and from the lungs, hearl and other paris of the body.

L Lungs

r
A c
h 4
L Heart
B D

LOther;)ansofthebody }

Which two blood vessels carry blood rich in oxygen?

{1 A and B only
{2) A and C only
(3) B and C only
(4) C and O only

2 Which of the following statements about the air around us is true?

{1) Most of it is oxygen.

(2) It is made up of four gases only.

{3) it has less carbon dioxide than nitrogen.

{4) it has a fixed amount of water vapour and other gases.




34 Which of the following statement(s) about the respiratory system isfare correct?

1
2
(3)
(4)

A The nose hairs trap dust.
B The respiratory system helps to remaove carbon dioxide from the body.

C  The main organs in the respiratory system consist of the nose, gullet
and lungs.

A only

A and Bonly
B and C only
A.BandC

Colin ran a 100-metre race. Which one of the following graphs shows the likely
change in his hearirate during the race?
(1 2
Heartrate Heartrate
0
>
Time
3 )]
A A
Heartrate \_ Heartrate {/
-» 0 —
Time Time




§ Whatis the organ involved in gaseous exchange that is found at X?

(1)  Heart 2) Gils
(3} Lungs : (4) Blood vessels

8 The diagram below shows a model of the human respiratory system.

What do A and B represent?
A : ]
(1) Air tube Windpipe
{2) Air sac Lungs
{3) Throat Windpipe
“) Windpipe Lungs




7

Kelth cut the outer ring of the stem of a plant as shown in Figure A.

{ swelling
outer ring has aswm——t-
been cut .
Figure A Figure B

Two days later, a swelling was obseyved only above the cut region as shown in Figure
B. Which one of the following statements best explains the swelling?

(1)  Food had accumulated above the cut region.

(2)  Water had accumulated above the cut reglon.

{3)  Roots were starling to grow out from the swollen part.

(4)  The plant was injured more at the region above the cut region.

John observed the underside of the leaf and saw many tiny openings as shown inthe
diagram.

tiny openings

Which two of the following statement(s) below about these tiny openings are true?

A itallows gaseous exchange in the day only.
B It allows water vapour to escape the leaves.
C It allows gaseous exchange in the day and night.
D  Itallows water vapour to enter for photosynthesis.
(1) AandB
(2) AsndD
{3y BendC
40 BandD
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The diagram shows a growing seedling.
The structure marked X always grows in the direction where there is

(1) light ) food
(3)  soil 4)  water (

Alvin set up an experiment as shown. Firstly, he split part of a plant stem in
half. Then, he put one half of it in a beaker of water mixed with blue dye and the other

half in a beaker of wates.

white flower

bdlue white

aplit part of stem blue dye mixture

After some time, half of the flower turned biue.

Which of the following is/are also transporied to the rest of the plant by tubes in
the plant’s stem that caused half of the flower to tum blue?

A food

B  oxygen

C mineral salls
D carbon dioxide

(1} Conly

{2) Aand Conly

(3) BandConly

(4) A ,BandDonly {




action B {10 marks

Read each question carsfully and write your answer in the space provided.

11 State the function of:

(a) food-carrying tubes in the stem of the plants.

1

{b)  watercanying tubes in the stem of the planta.

i

12 Several people were trapped in a fift which does not have good ventilation.

indicate whether each of the statements below is ‘True' or ‘False’ regarding the amount

of gas in the lift. Put a tiek (v') in the correct box.

Statement

True

False

The amount of nitrogen increased.

The amount of carbon dioxide remained the same.

The amount of water vapour increased.

The amount of oxygen decreased.

(2



13

(@)

(b

{c}

Heart rate (No. of heartbeats

The graph shows the heartrate of Wen Kal as he was running on the treadmill.

18” »
160
140
120 4
3 100 -
E 80
$ 60
40
20
0 : Y v t r——
0 3 [ 9 12 15
Time in minutes
How long did it take for Wen Kai to reach his maximum heartrate? 1]
Explain why Wen Kal's heartrate increased while he was running. 2

Which line {AB, BC, CD, DE or EF) showed that Wen Kai had most likely slowed down,
his running? i1l

Line




44  The bar graphs show the composition of inhaled and exhaled air.
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(2)

Which bar graph, A or B, best represents the composition of inhaled air? Explain your
choice by comparing graphs A and B. 11

{b)

State one other difference betwean inhaled and exhaled air that is not shown in the
graph. {1]
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Q11a | Transports food from the leaves to all parts of a plant.

Q11b | Transports water and minerals salts from the roots to all parts of the plant.

Q12 False, False, True, True

Q13a |6 minutes

Q13b | When Wen Kai was running, his body needed more energy. His heart rate
increases as his heart beats faster to transport more digested food and
oxygen to his body to release more energy, while transporting more
carbon dioxide that is produced for removal.

Q13c |DE
Q14a | A. Since the body uses oxygen and produces carbon dioxide during

respiration, the graph for inhaled air should have less carbon dioxide and
more oxygen than the graph for exhaled air. Graph A fits this criteria.

Q14b | Inhaled air is cooler than exhaled air.
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